MANUEL / MANUAL TOOL FRANCE

10048 STANDFUSS

SOCLE

PROMAC  C€EX

www.promac.fr

1;' TOOL FRANCE 9 rue des Pyrénées - ZI du bois Chaland - 91090 LISSES (France) contact@toolfrance.com




10048 PROMAC

STUCKLISTE / LISTE DES PIECES

1)
-9
&
- /J

Pos. Art. No. Bezeichnuno/Description Q'ty
1 PM 10048-01 Rahmen r/Stand d 1
2 PM 10048-02 Rahmen r/Stand g 1
3 PM 10048-03 Trager / Proteur 1
4 PM 10048-04 Trager / Proteur 1
5 PM 10048-05 Stange / Flasque 2
6 PM 10048-06 Stange / Flasque 2
7 PM 10048-07 Bolzen / Boulon 8x22 2
8 PM 10048-08 Schraube / Vis 5/16" 6
9 PM 374072 Mutter / Ecrou 5/16" 6
10 PM 10048-10 Fuss/ Pied 4
n PM 10048-11 Klammer / Serrage 2
12 PM 10048-12 Schrauben / Vis M6 3
13 PM 10048-13 Schraube / Vis 5/16" 4
14 PM 10048-14 Scheibe / Rondelle 5/16” 4



10048 PROMAC

308 C

10048 Zubehor / Accessoires

348C
A (300c

e : !
;;,:—' .l‘ y -~ ‘
Doy % i !I\W\\\“\“\\\\\\\\\\\\\Q\\\\\\\\\\\\\\\\\\\\\\\“
| iy : ( 308C
- 3 !I\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\'
1 .
H e i T I
L | T
. i
- @



	頁面 1
	10048 stand Manual-2 202401.pdf
	頁面 1

	空白頁面
	空白頁面



